BB B M M & R RE@EE/FEHRA - ER/FA)

1-F o 2 I B s —fRimis | = & | BT
120)16-1 IEEKEEEEETEA | (AER) 1,800 2,000| smelEm| R5.3.10
121]20-1 HEEHFEEHETLA T (1 BEH) 1,437 1,600| smu | R5.11.10
122|131 (BB FEETEHETLEA I CEEH) 1,437 1,600]smubmu| R4.12.21

B/ 12319245 BXEEXEETLALD (BEEH) 1,437 1,600] smui | R5.11.20
124121 $EEHFEETEHETLEA T 4BEH) 1,437 1,600 smuitms| R49.14
102)14-1 L EEEESETHA 1,700 1,800| smuitmi| R6.4.11

103| £EThR29R B EESE 1,900 2,100| ol b ma| R5.7.1

T 10411 EHLEFRAEE (2PhH) 1,400 1,600] smu @ | H20.6.30
105|6-25Thr RIBEHREE 2,610 2,900 g R5.2.1
106|EERFIETIE ThAMYPT LV ERKBENDREES | 630 700] amu x| 42eeR
108|2-1 B#T ZiHEBZHOMER 4952 5,239 g H20.9.25

109| S 16 FE IR = EE B R ABEH A 3,420 3,800 g R5.8.10

Bl 110|195THR ERESGEAMER (RYhd)5 8 L aER5E 4,320 4,800 &5 R6.1.15
111 FR2EREFRSNNE 3,960 4,400 g R2.7.10

12| ERNEZDEMEEQKA 600 1,000] smui b mp| H28.4.1
114)1-2 2 7 # fi 755 952 smuitma| H16.56

115 ERRE R EBEY=17 )L (FHETIR) 2,160 2,400] 2/l e | R5.11.10

S| 116|1-2 ERMES 1,000 1,238 smu b mp| H26.3.22
8| ZHEICEITINEARENIRT VY 1,155 1,800 smu e | H28.4.15
125|HKEThR ETARROFIIE 1,350 1,500] 2mu £ | R3.10.15
126|65THR ErEEZE1R S EHELE 1,080 1,200] smu b | H29.7.10
128A18-4 EAXREXFEEHBIEV\ETHAR) 834+ 5,000 6,800] smui k| R4.10.26
132A140 Z(HEEFHEAEZHACD-ROM Verd0 2,600 3,200 sigul E4ms| R4.10.26
131]1-1 BRI BEERIRIZI0EH| 1,000 1,200 smu1 @ | H20.8.29
230|16-1 {EEHE S EEHBEEER) 1,700 1,900] smu e | R5.11.29
231|12-1 IR EHREE T EMBESER) 1,500 1,700] smu b | R5.11.20

S| 232|122 EEHEEEERNEECEED) 1,500 1,700 smu | R4.12.28
233|6-1 IEEHEEXERBEEGEER) 1,500 1,700] smui | R4.10.26

1| 234|6-1 EEBREEXEMEEUEER 1,500 1,700 smu bme| R2.11.25
235|2-1 EEDEEEBI-HDEFIBENERE 1,800 2,000] sl gy | H22.4.6

Rl 236]2-1 ZHEISKROONDIVTMTVAEE 1,800 2,000| smyl bmp| H22.4.6
237|1-1 X2 Fo-av LA EEREEE 2,091 2,400] sl kg | H23.12.13

7| 24011 ZHEE DD DESHEE) 2,473 3,000] 6l Emyt| H25.1.29
241|1-1 EEE D=-HD#EHHT(DVD) 3,473 5,000] el bame | H25.1.29

U 242111 ZHEEDE-HDES M (YR 5,709 8,000|styhu1 Esmd H25.1.29
238|2-1 BRIFETEHA MBEHBERR(EZR) 1,419 1,732 smuitms| R3.6.28

J|  239|4-1 MRS ES2RIEERIREE100R) 1,400 1,800] smuitmiy| R5.4.22
249041 HRZHEZOFSIGIHR) 2,000 2,190| smul Emp| H30.1.31
JU  250]5-1 B EREBOFEI(LER) 2,091 2,286 sl k&g | RIT.12.24
251012-1 ZEPREE (£ 75 2 MRS HR I ZE £ (200R9) 2,400 2,800 smei ke | R5.7.20
252[6-1 2 A (i 275 1 #RA5 153 RS RE ££(200R%) 2,400 2,800] smei bgms| R2.5.27
253|14-1 ZHEHELAEERLER) FETR 1,800 2,000] sl bmy| R433
254|711 2SR BFHAGE - HBE) FETR 1,900 2,000| smui k@ | RIT.9.17

B 255|9-1 BHEHERERGERE) HETR 1,900 2,000| smui k@ | RIT.9.26
| 256|1-1 ZiHEHERERCERE) TR 1,900 2,000| smyl kg | H18.7.7
| 257|211 EHEEBEFHABME) TR 1,900 2,000| smuitgmp| R2.4.41
258|1-1 SR E X ;EE 1,755 1,905 smu bms| H13.1.31




1-F o 2 e B s —fRimis | = & | BT
259|2-1 EEMKERE 1,800 2,000 smul Emy| H28.4.15
260)2-1 ERMKBFELHERS 1,755 1,905 smurmp| H225.7

H 261|6-1 WHEEEEEMESE FEREMN 2,000 2,200] smel bame| R4.4.15
Ul 262)1-143ab e s TRIE D5 KA D DHENZ0. 455 800 smu1tgmx| H27.8.20
|  263|4-1 EE R - BIBRELERR 1 SRR EERIREE(250R]) 2,400 2,800] smpl e | H31.35
264[8-1 B B & - IRKHE 2 FRAE BRI E £ (250R9) 2,400 2,800 sl £ | H30.1.31
265[1-1 BHRBELA BEEHEMERBABR(EER) 1,419 1,732] sl s | H31.2.27
266[3-1 & B BB E (H 2 RIS ERRIRESE(100R8) 1,400 1,800 smutms| R3.10.26
200|12-1 ZAFELHEBOFSI@IHR) 1,900 2,190 smui b mp| R3.4.20
201|5-1 RBFELHEBOFSI(LELR) 1,810 2,000| smpl by | R5.1.21
fAl  215[19-1 R ABFEZHEF2MISEERIELE (2007) 2,400 2,800 smyl bgmp| R5.12.22
X| 205|3-1 R B FEEHER2MIEERIRELE(100R]) 1,400 1,800] smu @y | R5.9.21
Bl 204|171 EFEZHER 1 RIESRIREE(200R) 2,400 2,800 smuitamp| R5.4.18
ENl  202|13-1 R EREBEDF5I#R) 2,182 2,381 smyitmp| R6.4.17
Rl 203|8-1 MERZHEBEDTF5I(LR) 2,182 2,381 smuitmu| R3.4.20
214)15-1 MEERE M ETE 2 MR EIRRELE (200R]) 2,400 2,800 smyl kg | R3.10.26
207[6-1 FMESRE i £ 752 RS E R RE££(100R) 1,400 1,800] smuitmy| R59.13
208|9-1 M SR (i E 75 1 RIS R RIRE S (200R8) 2,400 2,800] sl £ | R3.11.24
209|121 2 8 i (B6#I) 1,400 1,900] 11muitsmss | R6.4.11
210|141 HRETHAX EFEZHEH2REZR) 1,419 1,732 smu e | R3.12.10
211|3-1 BRAETLAR BREHERREER) 1,419 1,732 smuitmis| R4.4.27
280|2- 1 EEEEGEEER) &A I (EXE) 1,200 0] == H24.8.8
281|3-1REEEEGEEER)KARI 1 5EH) 1,200 0] == R2.8.20
282|2- 1 EEEEGEEER AL 25 £%) 1,200 0] == H24.8.8
283|3- 115 EFFHGEEER AL (BB 1,200 0] == R3.2.22
284[3-1{EEEFEGEEER AL USEH) 1,200 0] == R2.8.20
285 | R EREBOF 564 762| smu gy | H18.9.20
| 286|HMHMEHEFDFS 1,800 2,000 sl 4w | H18.10.30
2872 1 RREBEBOFSI 1,000 1,200] smu £ | H26.11.7
28921 R BEFEEEBEDFSI 1,400 1,600] smu g | H26.3.22
291 | B EREBOF 1,600 1,800 smui by | H19.7.3
Tl 279|211 R EREHF DTS 1,800 2,000 sl E4mss | H26.5.24
28813-1 EHIEICLDERMEREHER 1,800 2,000] sl ke | H29.7.18
293|12-4 EiEEE DR (125T45R) 2,755 3,000| smuitg@ms| R5.8.10
423|Z K F iR 855 1,000 = = H20.11.1
E 224 |ZHFR HHAN BRI 100fLLE 10,000 10,000] = = -
425\ EFRE #HBAN (EXFERIK) 100 E 5,000 5000] = = -
537|1-1T RIRIREESE BF 946 1,048 smu g | H21.12.16
539|1-11/ME - KABIRIEESE) BT 1,046 1,143 ] smu g | H22.11.25
Bl 540|=@EEna haYOTLVE 2,286 2,600| smpl b gmy | H24.12.3
5415-1 X)) T4 TS F—HEHAR[E14] 5,182 5,400| smyl k| R3.10.26
542|5-1 X ) T4 TS F—HEHAR[FE2%] 2,182 2,200] smyl kg | R3.10.26
538|4-1 X1 T4 TS5+ —BEMBEE 2,091 2,400| smui b | R5.6.24
550|3-1 2T o av LA NEEHA[E 15] 4,755 5,400] sl @y | RIT.10.1
551|3-1 % )Fr-ao LA NEBHA[FE25] 2,755 2,800] smpl ey | RIT.10.1
03| EELERE 791 1,000 smus emye| H28.7.27
304 —0—FI(T 17102 74—hR) 1,200 1,500]21mu £ H9.10.13
2] 309|tFaYT4- =27 ILNo.1 1,000 1,200 smu bme| S61.2.20
310|*xa) T4 ¥=27JLNo.2 1,191 1,400] smui sy | HIT.3.10
311|EFa T4 ¥=27JLNo.3 2,091 2,190| smyl bmp| H9.6.17
312|&F¥a)T4-%=27LNo.4 2,091 2190 smuirmp| H7.41
313| X ) T4 <¥=2F/LNo5 2,282 2,381 sl b | H12.12.20




1-F o 2 N B e ] —heimis | = 5 | BT
403|Zim B 4 BRI (30K vh) 528 600 = =
405| X2 T184 L A5) 728 728 = &
407X T484 L (R 11 A5 ES) 1,455 1455 = & R5.11
409X 2 T154 L (V) 9,091 9,091 ma
418|R e - BLEALDERICATTERXE) 3,900 4300 = & H22.4.6
421|security eye #5& 600 700 = =& H20.3.20
2| 422|SECURITY HANDBOOK 255 300] = = H25.11.1
W1 |BNBRARbRE/—F 500 1,000| 1m215m | H26.11.12
A eFxaYT4FALBNAVT — 1,428 1,714 = &
414|xH5162 (38) BEHA 1,164 1457 = &
43| RYBAEL (£F) it 1,164 1457 = &
415| o480 (8B) =R 1,164 1457 = &
MNT|Ry84EV (&) LA 1,455 1,749 = &
432|#H541E> (£)2015 1,400 2000 = = H27. 5
B 433|R95AE ($8)2015 1,400 20001 = = H27. 5
426|tx2T4- TS50 F =\ (SP) 1,137 1,300] = &
427 F 2T a Y IILEU AT (SC) 1,137 1,300 = =
428|232 AJSSA (7'1-) 473 800| = =
429|238y AISSA (51)-Y) 473 800| = =
430|213y AJUSSA (1)) 473 800| = =
435|txa T4 TSoF——IL  19-F50RR (5H1 Y 1,000 1,000 = =
A2l 2T a Y ILEU R —IL1Y—50 (51 1,000 1,000 = =
436 AR H—2(3V)-I) RAE— 555 700 = & H28. 5
437 ABRA—TRYI-V) FARTIL— 555 700] = =& H28. 5
%l 438 ARRA—TRVI-L) EVY 555 700 = & H28. 5
43| ABRH—D(3V)-) R F 555 700 = & H28. 5
0| ABRA—TRVY-I) 4 500EKLLE 537 680 = = H28. 6
AN |ABRH—TRYH-I) 48 1000 L 528 671 == H28. 6
2445w F<—H— 900 1,200 = = H25.6.7
24551 ) —> < —h—(F7%K74}) 700 900] = = H25.6.7
246|5)—>2—H—(7' 1) 700 900] = = H25.6.7
247|5)—>2—h—(1vY) 700 900] = = H25.6.7
2485 ) —o2—h—HLUY) 700 900] = = H25.6.7
245-1 |97 - v—hH—ty b @EF 7RI 1,500 2000 = = H25.6.7
246-1 |9y 7 - v—h—tyT o) 1,500 2000 = = H25.6.7
247-1 |9y T - v—h—tyIvy) 1,500 2000 = = H25.6.7
248-1 |9 v T -v—h—tyrELYY) 1,500 2000 = = H25.6.7
410|AJSSA HV)TF 274 IL(Er7958—11) 91 Q3] == R3.4
450]AJSSA T+ (fiifa) M 1,200 1,204] = = H30.5
451]AJSSA T v (fitfa) L 1,200 1,204] = = H30.5
452|AJsSA TV () LL 1,200 1,204] = = H30.5
2|  453|AJSSA TS 4w (Hifa) 3L 1,319 1,364] = = H30.5
454|AJSSA T (HitR) 4L 1,319 1,364] = = H30.5
455|AJSSA RALE RSP (Hif) M 1,573 1576] = = H30.5
2|  456|AJSSA RALEHUROL Y (fif) L 1,573 1,976] = =& H30.5
457|AJSSA RELE RO Y (Fif) LL 1,573 1576 = = H30.5
458|AJSSA RELE RO Y (Fif) 3L 1,910 2000 = = H30.5
7l 459|AJSSA RELE RO Y (Hi) 4L 1,910 2000 = = H30.5
460|AJSSA R—)LRU 2. v— TRy (FHRK=)) 491 500 = = RJT.6
420|AJSSA FouF @y Ayva) $42 LL/3L 2,600 2800 = = H28. 11
434|AJSSA 25 AR5V T 555 557 = =& H29. 7




1-F o 2 N B e ] —heimis | = 58 | BT
544|% £ LIEFEDVD £6% 91,427] 135,906] = u
544-1|R & LIE4EDVD (E1%) 16,1901 29,049| =
| 544-2|% & LIEFEDVD (F2%) 16,1901 29,049| =
544-3| R & LIS3EDVD (5§3%) 16,1901 29,049| =
X| 544-4| %&£ LIEFEDVD (F4%) 16,190] 29,049 = »
544-5|R & LIE3EDVD (5§5%) 19,048] 33,906| =
544-6| R & LIE3EDVD (5§6%) 19,048] 33,906 =
507|fAFSh 2 EHEDVDE2% 26,667| 43619 =
507-1|#HiFShDEMEDVD (FE15) 21,8451 24190 = ©
507-2 | SN DEMEDVD (F2%) 21,8451 24190 &= #
545|TBUE TV R2—F B E /ML fiTIDVD (1) 8,571 13,0001 =
502|5iBHH LM 1 EDOVD 264 82,5241 106,797) = #
502-1|3BHEZ 1 #RDVD (F 1) 16,505 19,418] —#s520M
502-2|ZBEHEZ 1 #RDVD (F2%) 16,505 19,418] —#s520M
502-3| X BEHEZ 1 fDVD (£3%) 16,505 19,418] —#s520M
502-4|3 BB Z 1 RDVD (F4%) 16,505 19,418] —#s520M
502-5|X B EEEZ 1 1#kDVD (E5%) 16,505 19,418] —#520mM
502-6|35 @ FEZ i 1 #kDVD (FE6#) 16,505 19,418] —#s520mM
522|$rZBEEHEDVD 265 118,095 147619 = #
522-1|#EREHEDVD (E1%) 247621 31,429 =
522-2|#H E{E B HEDVD (F2%) 247621 31,429 = #
522-3|FEREHEDVD (E3%) 247621 31,429 = %
2| 522-4|FE(RELREDVD (F4%5) 247621 31,429 = %
522-5|#E R EHEDVD (E5%) 247621 31,429 = %
522-6|#EREHEDVD (E6%) 247621 31,429 = %
523-1|3BF B EHEFRH2MHOVD (B 15) ERE 19,048] 24,762 = %
523-2| X BFHEEHEFH2HDOVD (F2%) £BE 19,048] 24,762 = %
5241 | AL B2 752 4DVD (F 15) EHiR 19,048 24,762 = u
524-2 | B E B L E24RDVD (5 2%) B 19,048 24,762 = %
525-1 ek ZEHE 2/ DVD (5 15) EHiR 19,048 247762 = u
525-2| R E BT 2MRDVD (52%) Rk 19,048 24,762 = %
526|M X2 R L BHIDVD (1) ERIR 19,048 24,762 = %
528 FIR%IE/EZE$EIDVD (£15) 15,238] 18,571 = #
37|  530|2-1BiEt 2R ERBERELKBEDVD (£14) FHRE 14,0001 20,000]|4s%<cs40m| RA3.24~
TE]  532|2-1 BiEH 2R E H I E BB KEDVD (£15) F11E 14,0001 20,000]|4s%ca40m| RA6.1~
E| 534|-1 Bt R ERREREKEDVD(£15) FHE 14,0001 20,000]4s%ca40m| R4.12.16~
Bl 536|-1BiepmrEnasE-£EEoVD(2 152 12,000] 18,000)4s%<a40m] R3.7.19~
553\ !)T4-aHILA FDVD(£ 14) 1,710 3,000| 4% as0m| H24.76
2| 546[1- 1 EFELMER1MOVD(£18)ERIR 16,0001 20,000]4s#<370m| H23.4~
Bl 5471 1#REHER1KOVD(£18) R 16,0001 20,000|4%%c370m| H23.4~
] 548|2-3MEER LM EH 1 MDVD (2125 KETHR EER 16,0001 20,000]4#z<370m| R5.1~
549|1-1 2B £ 7B MR 1HDVD (£ 15) EHiR 16,000] 20,000]4s#<a70m| H23.4~




1-F o 2 N B e ] —heimis | = 5 | BT

A| 600|3&E /M NiE HHSELR 3,960 4400] = % R5.12.15

B4
700|5 B8 E SH6ER 7,740 8,600 440 R5.12.15

F| 705|65mEFEHERDI-ODANE - EEHIE 1,620 1,800 330 H25.6.20
707 |EEEEE KB BEREEGE150) 1,800 2,000 165 H28.4.10
T108|RBE EEEARBBEMNEE (E75) 1,800 2,000 165 H27.6.30

& 09| N\SRAVE —BiSERIETSED— 1,350 1,500 165 H31.4.25
TO|SHSERES Y RE1E 13,5001 15,000 330 R5.8.25
M| SHSERES Y RE2E 13,500f 15,000 330 R5.8.25

E 72| SHSERES LY RESE 14,4001 16,000 330 R5.8.25
3| SHSEREE LY RE4E 11,7001 13,000 330 R5.8.25
N4|70FAERRDER-BE&%E 1,800 2,000 165 R3.11.25

S| 716|SHSER HERRFHLZBRIRE—/—F 2,700 3,000 165 R5.5.15
TT|SSER 518 -t R REEEE/—+ 1,710 1,900 165 R5.5.15
T18|RIE/ S—h2A LF @A DR 1,080 1,200 165 H27.3
o|gproHcEMSEH KR-SH-HE 1,800 2,000 165 R5.3.20
T3 BEFLOLLLHNEIER 1,800 2,000 165 H21.2.20
800|EHEEERLE (215 17,1001 19,000] szwxmsu | foks=t
801|& R bR BREZE % (R5.7 A MEITHURER) E31hR 1,440 1,600] 1#330m R5.8
803|{A A IEIRIRE/ > F T v (R 9,900 11,000] gy | mopr=t

Z| 804 HEMEHRERE-BONURTvonR) 10,8001 12,000] szxmsu | foka=t
21| AM T EERONEANERAAFCE S 1~498) 455 455| mp=Es R6.1.12
822| A\M TR R DNEANERH AFGESTE: 50~299] 364 364| zpmp R6.1.12
823| AM TR R DN EANERH A FGESTE: 300561 273 273| apme R6.1.12

M| B8O5|/KDRAYE IZEEmITIR (MBEEXS) 28,571 - - -
806|[KDRAYE EERIMTR (REMNEXS) - 47,619 - -
807|r e B rh— AR—BASR Y —E R 98,000{ 118,000 - -
808/ HPRIR - EHEERI2EEDH 60,000{ 60,000 - -

i 812|(HKETHRIARXAFRENES 2,340 2,600] 1za60mM -
813|CERI A A AF RENH(E10MR) 4410 4,900] 1za60m R5.4.1
814|EHE Re-BERTYN IV 198 220| zp=# | H28.10.31
816| S H4ELARI RAIERDEZH IDK A& 2,520 2,800] 1za10m R4.7
817|(KETHRI A XX fERR DB A &304 3,150 3,500] 1zma60m R5.6.1
818|thigiit = DRKITE RESEERIENEUL 2,880 3,200 1#a10M | R5.10.30
820|EE A5 EMBERANILERYIVMRESE 1,667 1852 == H28.3.11




I—F m % PN B ] — R | = & | BT
830| 74 RN—F R (FAANY)3{E{T) RAE—(S) 6,273 7,200] n%E & i1 5 AL EE
831| 74 RN—H R (FAAN )3 ) RAE—(M/L) 6,273 7,200] fn%E & i1 5 AL EE
832| 7 A ZRN—F R (FAANYH3E) R A E—(LL/3L) 6,273 7,200] mn%E & M1 5 AL EE

R 83| FARN=FRR(FAANYY3E ) FAE—(XL) 6,273 7,200] mn%E 8 M1 5 AL EE
834| 7 A RN—F R (FAANyY3MET) TIL—(S) 6,273 7,200] 28 8 @15 m U EE
W 835|7ARN—FRR(TAANYI3ER) TIL—(M/L) 6,273 7,200] 28 815 m L EE
8367 A Z/N—FR R (FAANYI3ME ) T JL—(LL/3L) 6,273 7,200] 28815 m L EE
I 8377 ARN—FR(TAANY3ER) T IL—(XL) 6,273 7,200] 28 8@ 5 m L EE
838| 7 A RN—RR (PAANy)3MELH) F'L—(S) 6,273 7,200] /o588 fiss 1 5 FH 0L Et
E 83| TFARN=FRR(FAANYI3MER) FL—(M/L) 6,273 7,200] 28 & ms15m L FEE
840]| 7 A ZN—H R (FAANy93ME ) 5 L—(LL/3L) 6,273 7,200] 128 8 ms15muEEE
8417 A ZN—F R (FAANY93MEST) F'L—(XL) 6,273 7,200] 28 8@ 5 muEEE
8427 A ZN—H R (FAANYI3MEL) TS59%4(S) 6,273 7,200] 28 & ms15m L FEE
843| 7 A ZN—F R (FAANYI3MES) TS5 94 (M/L) 6,273 7,200] 128 8 ms15muEEE
8447 A ZN—H R (FAANy93MEH) TS5 vH(LL/3L) 6,273 7,200] 1288 ms15m L EE
8457 A ZN— R (FAANYI3MER) T 5w (XL) 6,273 7,200] 288 ms1 5 m L EE
846| BT AR/ (3EtEYR) 1,182 1,714| mea gt 5 SR
847|HBN RS YT 455 600| /o525 Mits1 75 M L E
848|7 4 R/N—R R (FAANy)3{E4F) 30078 LA L 6,250 7,200 T
8497 A ZAN— R (FAANy93MET) 300€y+ LA E 1,050 1,714 1
850|NEWF A AN—%R1Z74—h (YR AFIE ) RAE— (7)) 6,819 8,200 s M1 5 ML FEs
851|NEWFAAN—%R1Z74—L (R AFIER) RT A+ (71— 6,819 8,200 =& ms1 5 ML E
SF6E4A22AIRE FiA)
EEEEE -BHEEAN Y Hig
BEREEXEERE \vD(U1E~45) 1,237 1,237 ==
BREREEBEEEE N \vD 1,237 1,237 = =
SHM6E4 A 228K FE)
BRENYY &
KB EER-ZBRHE IR AAYD 1,200 1,200 = =
RiE-HE-EE-EER- BB 2HAN\vD 955 955| = =

SHM6E4H228RE FHA)




